#Solutions for lab 4
#3uprakash Datta

#QL1.

printPair := proc(m n)
print("You entered ", m " and ", n);
end proc;

proc(m n) print("Youentered”, m " and", n) end proc

printPair (5, 6);
"Youentered",5," and", 6

#Q2

mylrem := proc(m :: integer, n :: integer) # typechecking was not required for this assignment

m
returnm- n-trunc( F );

end proc;
proc(n:integer, n:iinteger) return m— n* trunc(m/n) end proc
mylrem(2, 3);
2
mylrem(4, 1);
0
mylrem(37, 9);
1
#Q3:

largerNum := proc(n :: integer, m:: integer)
return piecewise(m > n, m,m < n, n);
end proc;
proc(n:integer, ntinteger) return piecewise(n < mm m <=n,n) end proc

largerNum(2, 2);

2
largerNum(4, 3);

4
largerNum(3, 4);

4

#Q4

TwolLargestNum :=proc(n :: integer, m:: integer, p :: integer)
local largest, secondLargest, tmp;

largest := largerNum(n, largerNum(m, p));

if n=largest then secondLargest := largerNum(m, p);

elif m=largest then secondLargest := largerNum(n, p);

elif p =largest then secondLargest := largerNum(m, n);
elseprint("Error"); secondLargest := -1;

end if;

print(largest, secondLargest);
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end proc;
proc(n:integer, m:integer, p::integer) (11)
local largest, secondLargest, tmp;
largest := largerNum(n, largerNum(m, p) );
if n=largest then
secondLargest := largerNum(m, p)
elif m=largest then
secondLargest := largerNum(n, p)
elif p=Ilargest then
secondLargest := largerNum(m n)

else
print("Error"); secondLargest:= — 1
end if;
print(largest, secondLargest)
end proc

TwoLargestNum(2, 39, 41);
41,39 (12)
#Q5
gSproc :=proc(n)
return piecewise(frac(n) =0, print("Theinput isan integer"), frac(n) # 0, evalf (% 6) );
end proc;
proc(n) (13
return piecewise(frac(n) =0, print("Theinput isan integer"), frac(n) <> 0, evalf (n"2,
6))

end proc
gosproc(4);
"Theinput is an integer" (14
q5proc(4.32222);
18.6816 (15)

#Note: In this case, ensuring printing to 5 decimal placesis hard.You will get credit aslong as you set
the second field
#of eval to some number bigger than or equal to 5

#Q6
isinteger := proc(n)
return piecewise(frac(n) =0, 1, frac(n) # 0, 0);
end proc;
proc(n) return piecewise(frac(n) =0, 1, frac(n) <>0, 0) end proc (16)

isinteger (3);
1 a7
isinteger(-3);



isinteger (a);

isinteger (4.2);
isint er(i)'
eg 2 1

#Q7

1 frac(a) =0
0 frac(a) #0

with(MTM) : log2(8);

power Of2 := proc(n :: integer)
return islnteger(log2(n));

end proc;

power Of2(4);
power Of2(5);

?if

proc(n:integer) return isinteger(MTM:-log2(n)) end proc
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